Derivative Rules and Formulas
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Derivative Rules and Formulas

Formulas: (note: u is a function of z)
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%(sin(m)} — cos(z)

< (cos(x)) = —sin(2)
%(tan{m)] = sec’(z)

% (see(x)) = sec(a) tanr)
%(cot(:r,}} = —csc’(x)

= (ese(z)) = — cselz) cot(z)
%(sinh(:c) ) = cosh(z)
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(13a) %(arctan{:c}) = 14—#:132
(13b) % (arctan(u) = o
(14a) %(arcsin{ﬂ’}} = ﬁ
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